AH|QIZA ABI1.4404 H < 8|, ¥ =20 X191 02|, l‘l-pp
HEUM =gl

=5 4Y/HIE o[0ix|

panua Moy
froei
THEL:

2 O8, AHQIHA AR 1.4404.
1H 4K, A4 SF.

#M Oj22|:
Mol 224 s dat
e,
AH|IQIBA AR ER ORI2 AE MY, 97,
Ay 2 B8 7|2 FRlof LEHxez 0|8F.
=M
L
A B
_—|
7 —T ™ %
p
= %% | ] |
SH [ | |
A &
- A - A-A
=29
2H|QIYA AE1.4404 2 18], 2™ =201l X19A] OLF 2], FZ0M =8
FEHS A B D H L T 3tE
N
K0206.100 100 8 M5x10 35 108 10 1000
K0206.120 120 10 M5x10 40 130 10 1000
K0206.250 250 10 M5x10 40 260 10 1000
K0206.350 350 10 M5x10 40 360 10 1000

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 11



